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Examination October 2020

B.A. T.Y. (Sem-V)

1355 Economics - IX International Economics (Compulsory)

Time: One Hour

Instructions

Solve any 25 questions from Q.1 to Q.30

1 Economics is

BRI N
(A)Natural science (B)Social science
EINER I AT ITET
2 The attractive words for mercantilism
FATIETET T4T4T a8
(A)Commercialism (B)Colbertalism
arforssaETs FATE AR
3 Period of mercantilism
ATIVETI T FAES
(A)15th century to 16th century (B)16th century to 17 century
157 orae o 16 T Ira& 16 F orae o 17 oTa&
4 Physiocracy is the science
RenTaTs & ome o
(A)Natural order (B)Ethics
ERINETC Easils ETE T
5 Physiocracy is
EREICE I
(A)Rule of king (B)Rule of democracy
BEIERIE ATRITE T

6 The concept of 'Laissex Fair' was used the first time
FEerar T’ Shed T oA : aTauaTd SAer

(A)Adam smith (B)Mercantalist
o1 g fearer FTIETET

7 Who established classical school of economics?

ST FTaaTa T AT aTET=T ST A0 dFedt ?

(A)David Hume (B)Colbert
sfesagw FATE

8 According to Smith 'Invisible Hand ' works for
femr=0 7 21597 & 19 Far

(A)To create competition (B)For the free trade
T FETr FvETEe T T ATIEST

9 According to Smith Economics institutes are created by
(A)king (B)Group of people
T AHTIE
10 According to Ricardo, the rent is paid to the landlord ,for use of
Fersr=ar A, SR ©@s Rt sar
(A)The original and indestructible
powers of the soil

AT ST SN  SATaATe

N

o es

11 An Essay on principle of population is written by
(A)Smith (B)Say
ferr T

(B)The use of land for production

ITTEATEST AT HedTHeS

(C)Botha &b
grf= a=frb

(C)Botha &b
ZI=&r a T b

(C)17th century to 18th century

17 T 9ad O 18 T ods

(C)Morality
Aferar

(C)Socialism
GHSER

(C)Physiocratic
FreTaTET

(C)John Lock
T A

(C)For perfect competition

e

(C)Government
LECTES

(C)The land for industrial use

ST TR aTIvTETeT

(C)Lock

KIED

12 According to Marx the general character of social ,political and spiritual of society is decided by

ATHFE=AT A, G GRS , Tl T T Aiegias e Ao siof st

(A)The mode of production
I TEAr

13 Marx gives an importance to
T HE o &ar

(B)The rule of king
BEIERRL

(C)The economics condition of nation

T AT e
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(D)None of these

AT ATED

(D)None above

T

(D)16th century to 18th century
16 F rae o 18 T oTd&

(D)None of these above

P T

(D)Rule of nature

e T

(D)Ricardo
frarst

(D)Adam Smith
=1 = ferer

(D)For 'Human welfare'

ATAT FeATIES T

(D)Stimulus of nature

AT Yo

(D)AII of the above

e qe

(D)Malthus

RIS SE

(D)Above all
T T



Examination October 2020

(A)Capital (B)Organization
. .
14 According to Malthus , population grows due to
ATATH=AT 7 ATRHEAT = AT

(A)Physical fitness (B)Sexual attraction

S TFe AT IRERE R
15 Surplus value created by
srierFerr e FTT A
(A)Capital (B)Labour
BIECEH a7

16 Who says, always supply is equal to demand ?
FUT=AT HT 7EST & A8HT ANTUELET Sedr
(A)1.B. Say (B)Smith
STATH. feer
17 Who wrote 'principles of Economics'?

ST UTEATET eAded ' & I FT fefger 2

(A)Ricardo (B)Keynes
fraprst =

18 According to Marshall ,Time means
HTSTE =T el GHT TR 0T

(A)Year (B)Month
¥ afeaT

19 Elasticity of demand means
ATV Aa T ST

(A)Percentage of change in the (B)Change in supply

quantity in demand divided by the RRCERIRI LI
percentage change in price

AT TisTer aaeT M1
e wiaere aae

20 Marshall's prime productive cost
ATSAT {eT IoIadh T
(A)Stable cost
fere goqes ==

(B)Variable cost
FEAAT ICTEH q=
21 Economics of Industries
IJIT=AT F=dr
(A)External (B)Internal
22 Quasi rent
ANTET HS
(A)Abudent supply of inputs (B)Scarity
JoTEd TR AT ([T TATIT J7EaT  giFesar

23 Keynes analysis system

g fqa=T Tga

(A)Micro analysis system (B)Macro analysis system
ey fag=r 75 e fqa= 75

24 Which motives don't make any effect to fix rate of interest?
FVI & AT RTY=AaT THTT STehe ATar

(A)Precautionary motive (B)Speculative motive
geferad=T aq TheTT 5

25 Private investment is depend upon
TSI e HTAGT e

(A)Marginal efficiency of capital (B)Rate of interest
ST AT ATarHar FTTET

26 Which budget is defended by keynes ?
FHe ATAT AT 3T HheqT= G Hel

(A)Balanced budget (B)Surplus budget

(C)Human labour

HIET 5T

(C)Botha &b
=&l a=ATfor b

(C)Rent

(C)List

(C)Malthus
EIRS SR

(C)Week
Hedsr

(C)Supply divided demand
TGS HTTer AT

(C)Total cost
THT T

(C)Both a & b
ZI=ar a =T b

(C)Importance of inputs

IeUTEd TeH T Heed

(C)Individual analysis system

Fafeas faa= Taa

(C)Transaction motive

T R BT

(C)Botha &b
=& a =T b

(C)Deficit budget
TEMET 37 HaeT
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(D)Above all
T T

(D)None of these

AT ATED

(D)Profit
TR

(D)Marks
AT

(D)Marshall

<

HTITT

(D)Periods of supply of commodities

TE] [7AST VAT AT de5

(D)None of the above

ater aEr

(D)Above all
A T

(D)None of the above

AT ATEr

(D)Above all
T T

(D)Total analysis system

T = T

(D)Botha & b
ZI=4r a AT b

(D)None of these above

AT ATEr

(D)Above all
T T
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27 Keynesian trade cycle is a trade of

FeET AR =T TR =
(A)Fluctuation of demand (B)Fluctuation of supply
ANTHAT J@3ar TTESTTA 98 IdqTT

28 Marginal propensity to consume is more when

(A)Consumer spends more money (B)Consumer spends less money

29 Aggregate demands means :
TR AT FF 0T

(A)Demands of consumer goods (B)Demands of capital goods
ITHTT FEET AT WTSaeAr aEq=T AT

30 Rate of interest is the reward of

T & qTaT e
(A)Parting with the liquidity (B)Rule of bank
AATAIE L S0 Forr Foer

(C)Fluctuation in marginal efficiency of (D)Above all

capital T O
Je3diT
(C)No change in spending (D)None of these

(C)Aggregate demands of consumer (D)Non of these

and capital goods BIECIEIES
THIT ST AT A SaeAr aeq=r
AT
(C)Intensity of demand (D)Availability of supply
ANTOET drardr ITESTTET ITASTAT
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